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1.

(A) (B)

(C) (D)

2.

(A) (B)

(C) (D)

3.

(A) Mac OS X (B) Linux

(C) Windows 7 (D) Windows CE

4.

(A)

(B)

(C)

(D)

5.

(A) (B)

(C) (D)

6.

(A)

(B)

(C)

(D)

7.

(A) MS-2000 (B) MS-2003

(C) MS-VISTA (D) MS-2007

8.

(A) (B)

(C) (D)

9.

(A)

(B)

(C)

(D)

10.

(A)

(B)

(C)

(D)

11

(A) (B)

(C) (D)

12 IPv6 

(A) 128 (B) 12 

(C) 64 (D) 32 

13

(A)

(B)

(C)

(D)

14

(A) SUM

(B) MERGE

(C) CONCATENATE

(D) ADD

1

15

(A)  (UDP)

(B)  (TCP)

(C) (A) (B) 

(D)

16 DOS 

(A)

(B)

(C)

(D)

17.

(A) (B)

(C) (D)

18. DMA

(A)

(B)

(C)

(D)

19.

(A) Comp Zip (B) File Zip
(C) Win Zip (D) Win Stack

20.

(A) (B) CPU

(C) (D)

21.

(A)
(B)
(C)
(D)
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22.

(A) (B)

(C) (D)

23.

(A) (B)

(C) (D)

24.

(A) (B)

(C) (D)

25.

(A) (B)

(C) (D)

26.

(A) (B)

(C) (D)

27.

(A) (B)

(C) (D)

28.

(A) (B) 

(C) (D) 

29.

(A)

(B)

(C)

(D)

30.

(A) (B)

(C) (D)

31. Change the following sentences into pas-
sive voice :
The students are decorating the stage for
the annual day celebrations.
(A) The stage had been decorated by the

students for the annual day celebra-
tions.

(B) The stage is being decorated by the
students for the annual day celebra-
tions.

(C) The stage was decorated by the stu-
dents for the annual day celebra-
tions.

(D) The stage has been decorated by the
students for the annual day celebra-
tions.

32. Change the following sentences into In-
direct narration.
The student said, ‘‘We want to learn a
foreign language.
In Reported Speech the above sentence
will be.
The students said that
(A) They want to learn a foreign lan-

guage.
(B) They wanted to learn a foreign lan-

guage.
(C) We want to learn a foreign language.
(D) We wanted to learn a foreign lan-

guage.
33. Which of the following is the past form

of the verb ‘dwell’ ?
(A) Dwells (B) Dwelling
(C) Dwelt (D) Dwole

34. Identify the correct tense in the follow-
ing sentence :
‘‘He said that he was going to eat it’’.
(A) Present Continuous
(B) Past Continuous
(C) Present Perfect
(D) Past Perfect

35. Choose the correct spelling.
(A) Pussilanimous
(B) Pusilannimous
(C) Pusillanimous

(D) Pusilanimous

Direction (Q. No. 36 and 37)

Mark the part which contains an error in the
following sentence. If there is no error in it,
mark (D) as your answer.
36. Judge in him (A) / prevailed upon the

father (B) / and he sentenced his son to
death. (C) / No Error. (D)

37. Mohans’ eyes (A) / reflect a hope (B) /
for a better future in Microsoft. (C) / No
Error. (D)

Direction (Q. No. 38 and 39)

In the following questions choose the word
opposite meaning to the given word as
answer.
38. Transience :

(A) eternity (B) shallow
(C) slow (D) rest

39. Descent :
(A) elevation (B) increase
(C) level (D) ascent

40. In the following questions out of the
four alternatives, choose the which best
expresses the meaning of the given word.
Garnish
(A) honour (B) respect
(C) obey (D) adorn

41. 363 ×
1
2(4096) × 144 × 9 ÷ (93 × 722) = 4x

'x' 

(A) 5 (B) 7
(C) 8 (D) 12

42. 2 5 

(A) 70 (B) 68
(C) 72 (D) 75

43. 98A89B, 48 A + B

(A) 8 (B) 15
(C) 9 (D) 10

44.
0.25 0.25

0.1 0.15
5 (125)

(256) (256)



= ?

(A)
4
5

(B) 4

(C) 5 (D)
5
4

45. A = 11 11 11
9

 B = 
1

23 12
2

19(A + B) 
(A) 34 (B) 200
(C) 30 (D) 25

46.

2 2 2

2 2 2

(2.3) + (23.3) + (233.3)
(0.23) + (2.33) + (23.33)

(A) 10 (B) 100

(C) 1/100 (D) 0.1

47. (LCM) 
(HCF) 340 

26 442 

(A) 260 (B) 390
(C) 520 (D) 560
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48.
2 8 4, ,
5 35 15

6
25

(HCF) 

(A)
1

525 (B)
2

525

(C)
1

552 (D)
2

255

49. 22 [23 {24 (27 25 – 30 ) } ]    = ?

(A) 7 (B) – 7
(C) – 9 (D) – 8

50. 72 – 72 – 72 – ......

20 – 20 – 20 – ...... ,

(A) 4 (B) 2
(C) 3.6 (D) 8

51. 5 – 2 10
5 2

a b (a – b) 

(A) 3 (B) 4
(C) 2 (D) 5

52. 12%

` 36,000

(A) 30.45% (B) 36%

(C) 22.56% (D) 24.38%

53.
` 1130 ` 508.5 

(A) 1243 : 1027 (B) 1343 : 1027
(C) 1243 : 1017 (D) 1343 : 1017

54. 2% 
` 70 5% 

(A) ` 560 (B) ` 1,000

(C) ` 700 (D) ` 800

55. 45
39 4 

0.75 

(A) 26 (B) 24
(C) 28 (D) 25

56. (7x + 5)° (x + 5)° 
x 

(A) 10 (B) 20

(C) 30 (D) 21.25°

57. 8 
5

(A) 5 (B) 3 

(C) 2 (D) 4 

58. PQ 
QSR 

43º
P 

Q 

R 

S 

(A) 23 (B) 37
(C) 47 (D) 57

59. ` 14,000 14% 
9 

(A) 19460 (B) 18140
(C) 18120 (D) 17640

60. ` 12,000 5 
20 

(A) ` 1,24,000 (B) ` 1,92,000

(C) ` 96,000 (D) ` 24,000

61. 1/40 

(A) 700, 1000, 2040
(B) 540, 1360, 2040
(C) 680, 1020, 2040
(D) 500, 1200, 2040

62. 20 

30 50

(A) 35 (B) 30 

(C) 20 (D) 25 

63. 3 
6 4

4 

(A) 4 (B) 3 

(C) 2 (D) 5 

64. (x + 1/x) = 2 (x3 + 1/x3)  (x18 +
1/x18) 

(A) 2/9 (B) 5

(C) 1 (D) 1/9

65. O x
y 

O x y

(A) x – 2y = 0 (B) y – 2x = 0

(C) x + 2y = 180° (D) x + 2y = 360°

66.

(A) 15º (B) 30º

(C) 45 º (D) 60º

67. 56 
198 

(A) 297 (B) 445 

(C) 301 (D) 355 

68.
2 2

2 2

1 1 194,
1 1

x x x x
x x x x
   

 
   

x 

(A)
7
2 (B) 4

(C) 7 (D) 14
69. 24 

10 
15 

(A) 68 11  2 (B) 68 2

(C)   70 11 2 (D) 72 2

70. 924 3

18  
( 2 ) 

(A) 198 2 (B) 132 2

(C) 154 2 (D) 176 2
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71.

7 19 12  312
13 14 19 513
 16    8 11   ?

(A) 264 (B) 324

(C) 244 (D) 284

72. ‘P’ ‘×’, ‘Q’ ‘’, ‘R’
‘+’ ‘S’ ‘–’ 31 R

11 S 14 R 16 Q 19 P 76 = ?
(A) 96 (B) 88

(C) 92 (D) 82

73. -

(A) (B)

(C) (D)

74.

(A) (B)

(C) (D)

75.

(A) (B)
(C) (D)

76.

GK28, KF40, OA52, ?, WQ76
(A) TU64 (B) SU64

(C) TV64 (D) SV64

77.

LJB, NIY, PHV, RGS, TFP, ?
(A) VEM (B) VEN

(C) WEM (D) VFM

78.

512, 768, 1152, 1728, ?

(A) 2888 (B) 2172

(C) 2482 (D) 2592

79.

(A)

(B)

(C)

(D)

80. ‘GRIPS’ 
‘71891619’ ‘FRAME’ 
‘6181135’ 
‘JEANS’ 
(A) 10411491 (B) 10511419
(B) 15114901 (D) 15011491

81.

(A) (B)

(C) (D)

82.

(A) (B)

(C) (D)

83.
1 

5 

6 2 

5 

4 3 

4 

2 1 

(A) 3 (B) 4

(C) 5 (D) 6

84. ‘A + B’ ‘A, B ’ ‘A
– B’ ‘A, B ’ ‘A  B’ 

A, B ‘A × B’ ‘A, B
’, - ‘S

P ’ 
(A) A + Q × R – S ÷ P
(B) R + P × S – Q
(C) R ÷ S × P + Q
(D) P × Q – R + S – A

85. ` 25 
` 15 
` 25 

` 15 

` 105 
(A) 20 (B) 21
(C) 24 (D) 17

86.
(A) 12 (B) 14
(C) 16 (D) 18

87.
(A) (B)
(C) (D)

88.

(A) (B)
(C) (D)

89.

(A)
(B)
(C)
(D)

90.
(A) (B)
(C) (D)

91.
(A) (B)
(C) (D)

92.

(A) 120/80 (B) 110/70 
(C) 140/80 (D) 110/75 

93.
(A)
(B)
(C)
(D)
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94. -

(A) (B)

(C) (D)

95.

(A) 10 (B) 9

(C) 8 (D) 7

96.

(A) (B)

(C) (D)

97.
21 18 

(A) 42 (B) 44

(C) 61 (D) 72

98.

(A)

(B)

(C)

(D)

99.

(A)

(B)

(C)

(D)

100.

(A) 16 (B) 27 

(C) 20 (D) 30 

101.

(A) 29 (B) 25

(C) 44 (D) 42

102. —

(A)

(B)

(C)

(D)

103. -

(A)

(B)

(C)

(D)

104. 42

(A) 1967 (B) 1968

(C) 1976 (D) 1977

105.

(A) (B)

(C) (D)

106.

(A)

(B)

(C)

(D)

107.

(A)

(B)

(C)

(D)

108.

(A) (B)

(C) (D)

109.

(A) 17 (B) 19
(C) 18 (D) 41

110.

(A) (B)

(C) (D)

111. SI 

(A) (B)

(C) (D)

112. 1 

(A) 1 

(B) 1 

(C) 1 

(D) 1 

113.

(A) (B)

(C) (D)

114.

(A) 25 

(B) 100 

(C) 

(D) 10 

115

(A) 100ºC (B) 4ºC / 39°F

(C) 0ºC (D) –4ºC 

116.

(A) A (B) D

(C) E (D) C

117.

(A) (B)

(C) (D)

118. -

(A)

(B)

(C)

(D)

119.

(A)

(B)

(C)

(D)

120.

(A)

(B)

(C)

(D)

121.

(A) (B)

(C) (D)

122.

(A)

(B)

(C)

(D)

123. 1975 

(A) (B)

(C) (D)
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124.

(A)

(B)

(C)

(D)

125.

(A) 1930 (B) 1913

(C) 1968 (D) 1979

126.

(A)

(B)

(C)

(D)

127.

(A)

(B)

(C)

(D)

128.

(A)

(B)

(C)

(D)

129.

(A) (B) 

(C) (D)

130 -

(A)

(B)

(C)

(D)

131.

(A) (B)

(C) (D)

132.

(A) (B)

(C) (D)

133.

(A)

(B)

(C)

(D)

134.

(A) (B)

(C) (D)

135.

(A)

(B)

(C)

(D)

136

(A) (B)

(C) (D)

137

(A) (B)

(C) (D)

138

(A) 80º15 

(B) 84º20 

(C) 84º24 

(D) 80º15 

139

(A) 120 (B) 150 

(C) 141 (D) 165 

140

(A) (B)

(C) (D)

141

(A) (B)

(C) (D)

142

(A)

(B)

(C)

(D)

143

(A) 1801 (B) 1812

(C) 1818 (D) 1821

144

(A)

(B)

(C)

(D)

145

(A) (B)

(C) (D)

146
-

(A)

(B)

(C)

(D)

147

(A)

(B)

(C)

(D)

148

(A) (B)

(C) (D)

149

(A) (B)

(C) (D)

150

(A) (B)

(C) (D)

1. (D) (Software) 

(Instructions) 

Google Chrome, MS-
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DOS, Skype, VLC Media Player
Adobe Photoshop, MS-DOS

2. (C)

8 

3. (D) (Windows
CE)

4. (A)

5. (B)

0
1 

6. (B)

7. (C) MS Vista 
MS-2000, MS 2003, MS

2007 MS 
MS Office 1989 

Mac-OS

8. (D)

8 

1
8 

9. (A)

10. (B)

11 (B)

12 (A) 128 

IPv6 
6  

128

13 (D)

14 (C) M.S. Excel ‘CONCATENATE’ 
text function 

function 2
2 Text Value 

function, 
arrange 

15 (A) (UDP) 

server Receiver
Connection 

Direct 
UDP 

16 (C) ‘DOS’ 

17. (C)

ALGOL 

18. (D)

19. (C) Win Zip 
macOS, iOS Android 

20. (B)

 (Input devices)

 (Output devices)

 (Input/output
devices)

CPU 

21. (B)

22. (B)
= 

= 

23. (B)

24. (B)
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25. (A)

26. (D)

(D) 

27. (C)

28. (D)

29. (D)

30. (C)

31. (B) pw¡fd fn;k x;k okD; Present Contin-
uous Tense esa Active Voice gSA bldk

Passive Voice dk Structure fuEuor~

gksxk—
[Sub. + is/am/are + being + V3 + by
+ Agent] vr% fodYi ‘B’ 'kq¼ gSA

32. (B) lgh  fodYi  (B)  gksxk]  D;ksafd

Reporting Verb, Past Tense esa gS] rks

Reported Speech dk Verb Hkh Past esa

gksxkA

33. (C) fØ;k Dwell (cluk] jguk ;k /;ku

dsfUær djuk) dk Past form gS—
DweltA vr% fodYi (C) lgh gSA

34. (B) mi;qZDr okD; Past Continuous Tense
dk gSA bldh lajpuk fuEuor~ gS—
Sub + was/were + V1 + ing + Obj.
vr% fodYi (B) lgh gSA

35. (C) 'kCn Pusillanimous (adj) dk;j] uhp

izÏfr okyk] rqPN dh spelling (orZuh)

lgh gSA

36. (A) Judge ds iwoZ ‘the’ dk iz;ksx gksxk]

D;ksafd dHkh&dHkh Common Nouns
dk iz;ksx Abstract Nouns dh rjg

gksrk gS] D;ks afd buls fdlh quality
(xq.k) dk cksèk gksrk gSA ,slh voLFkk

esa buds iwoZ ‘the’ dk iz;ksx gksrk gSA

e.g.,
 The student in me in still alive.
 The mother in her is dead.
;gk¡ student dk vFkZ gS student dk

xq.k vkSj mother dk vFkZ gS ‘mother’
dk xq.kA vr% fodYi (A) lgh gSA

37. (A) ‘Mohans’ ds LFkku ij ‘Mohan’s dk

iz;k sx gk sxk] D;k s a fd ‘Mohan’ dk

Possessive cukus ds fy, Mohan ij

’s [Apostrophe’s] dk iz;ksx djuk

iM+sxk_ e.g.,
 Ramkrishna’s performance is

not satisfactory.

38. (A) Transience (Noun) = vfuR;rk]

vLFkkf;Ro] {k.kHkaxqjrk] vYidkyhurk

(Continuing for a short time;
fleeting; temporariness)
Eternity (Noun) = ' kk'orrk

lnk&loZnk

(time without limit especially life
continuing without end after death).

39. (D) Descent (Noun) = vorj.k ]

vojk sg.k] voufr  (an action of
coming or going down).
Ascent (Noun) = vkjksg.k] mRFkku]

mUufr (The act of moving up ; an
upward journey).

40. (D) Garnish (Verb) = ltkuk] vyadkj

djuk (to decorate a dish of food
with a small amount of other food;

adorn.)

41. (A) 363 × 
1
2(4096)  × 144 × 9

÷ (93 × 722) = 4x

36 × 36 × 36 × 4096 × 144 × 9

÷ (9 × 9 × 9 × 72 × 72) = 4x

46656 × 64 × 1296

÷ (729 × 5184) = 4x

3869835264 ÷ 3779136 = 4x

1024 = 4x

45 = 4x

x = 5
42. (C) = 99 – 9 = 90

= 
90
5

= 18

5 

= 90 – 18
= 72

43. (A) 98A89B, 48 
16 3 

3 

  
9 + 8 + A + 8 + 9 + B

3

= 0,  3,  9 


1 + A + B

3 = 3

 A + B = 9 – 1 = 8

1 + A + B = 0
3



0 (A + B)

44. (D) =

0.250.25

0.1 0.15

5 125

256 256

=

0.25
0.25 3

0.1 0.15

5 5

256

[am × an = am+n]

= 

0.25
4

0.25
8

5

2

 = 

1
4

4

1
8

4

5

2

= 2

5 5

42

45. (A) A = 
11 1 91
10

 
1 101

19
K

B = 

1
2 23

5
 

1 5
19

5
19

(A + B) × 19 =  
29 5 19
19 19

= 34

46. (A)
2 2 2

2 2 2

(2.3) (23.3) (233.3)
(0.23) (2.33) (23.33)

 
 

(10)4
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= 
2 2 2 4

2 2 2 4

[(2.3) (23.3) (233.3) ] 10
[(0.23) (2.33) (23.33) ] 10

= 
2 2 2 2

2 2 2

[(23) (233) (2333) ] 10
[(23) (233) (2333) ]

= 210

= 10

47. (C) = 340 × 

= 340 × 26

 × 

= × 

442 × = 340 × 26 × 26

=
340 26 26

442
= 520

48. (B)
2 8 4, ,
5 35 15

6
25

= 
(2,8,4 6)

(5,35,15 25)

= 
2

3 5 5 7  

= 
2

525

                                    2 3 5, 35, 15, 25
5 5, 35, 5, 25
5 1, 7, 1, 5
7 1, 7, 1, 1

1, 1, 1, 1

49. (C) = 22 – [23–{24– (27 25 30 )}]

=  22 – [ 23 – { 24 – (27 – (–5)}]
= 22 – [23 – {24 – (27 + 5) } ]
= 22 – [23 – { 24 – 32}]
= 22 – [23 – (– 8)]
= 22 – [ 23 + 8]

= 22 – 31 = – 9

50. (B) 

1 – 1 1 – ....x x x x x x

= x

 8 9 – 8 9 – 8 9 ...

4 5 – 4 5 – 4 5 ...

 8 4
 2.

51. (A)
5 – 2 10
5 2

a b

5 – 2 5 – 2 10
5 2 5 – 2

a b

2

2 2

5 – 2
10

5 – 2
a b

 
7 – 2 10 10

3
a b

a = 
7
3 , b = 

2–
3

 a – b = 
7 2– –
3 3

a – b = 3

52. (C) 2

P 1 –
100

nr

21236,000 1 –
100

88 8836,000×
100 100

                       =  `  27,878.40

        = 36,000 – 27,878.40

=  `  8121.60

  % =  
8121.60 100
36000

=  22.56%

53. (C)

= 1130 – 508.5
= 621.5

= 621.5 : 508.5
= 1243 : 1017

54. (B) = ` x

 x × (2 + 5)% = 70

7
100
x

= 70

 x =
70 100

7 = 1000

` 1000

55. (C) = x

= 45x 

45 39 4
4

x
x

 = 45 – 0.75

45 156
4

x
x

= 44.25

45x + 156 = 44.25x + 177
0.75x = 21
       x = 28

28 

56. (D) (7x + 5)° (x + 5)°  

(7x + 5) + (x + 5) = 180
8x + 10 = 180

8x = 180 – 10)º
=  170º

x = 21.25º
57. (B)

= 8 

= 5 

= ?

AB2 = BD2 + AD2

25 = 16 + AD2

9 = AD2

AD = 9
AD = 3

3 

58. (C)

PQR = 43°

 PQ = 

 PQR = 90°

PQR 
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R

P

S Q

43°

 RPQ = 180° – 90° – 43°
 RPQ = 47°

QSR = RPQ = 47°

59. (D) = 
× ×

100

= 
14,000 14 9

100
= ` 17,640

60. (B)  5
5 24,000

5 48,000
5 96,000
20

192000 

A = P 1
100

nr

2P = 
5

P 1
100

r

2 = 
5

1
100

r

A = P 1
100

nr

A = 
20

12,000 1
100

r

A = 

45
12,000 1

100
r

A = 12,000 × 24

A = ` 1,92,000
61. (C)

1

2
× =

1

3
× 

=
1

6
×  = k

 = 2k, = 3k,

= 6k



= 2k : 3k : 6k
= 2 : 3 : 6
= (2 + 3 + 6) = 11

 =
2

3740
11

= ` 680

=
3

3740
11

= ` 1020

=
6

3740
11

= ` 2040

62. (B) = 

=
1 2 3

1 2 3

.....
....

d d d
t t t

‘d’ 

= 

3 20 4 30
1– –

3 4 50

d
d d

d dd



= 5 1
60 120 12 50

d
d d d

= 10 5 5
600

d
d d d

= 
600

20
d

d

= 30 

63. (C) = d 

= 3 

= 4 

3
d

= 
6

60
t

t 

 d = 
13

10
t ...(1)

d = 
44 –

60
t

d = 
14 –

15
t ...(2)

(1) (2) 

13
10

t = 
14 –

15
t

10 13
10
t

= 
15 – 14

15
t

 9 (10t + 1) = 8 (15t – 1)
 90t + 9 = 120t – 8
 17 = 30t
 t =  

 t =  

t = 34 

= × 

= 
3 34 6

60

= 
403
60

= 2

64. (C) 
1x
x

 = 2 

21x
x = (2)2

 2
2

1 12x x
xx

= 4

 2
2

1x
x

 = 4 – 2= 2

3 18
3 18

1 1x x
x x

=

3

3
6 6

6 6

1 1–3

1 1–3

x x
x x

x x
x x
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=
3

33
2 2

2 2

(2) –3 2

1 1– 3x x
x x

3
2 2

2 2
1 1– 3 – 3x x
x x

= 3 3 3
(8 6)

[(2) –3 2] – 3[(2) – 3 2]

=  3
2

(8 6) 3 (8 6)

= 
3

2
(2) – 3 2

= 
2

8 – 6

= 
2
2

 = 1

65. (D)              
B

A

C

O x y

 

 AOC = 2ABC
= 2y

  = 360°
 x + 2y = 360°

66. (C) ABC 

AB. BC = 
2AC

2
AC2 = 2AB . BC

 

ABC 

AC2 = AB2 + BC2

2 AB. BC = AB2 + BC2

AB2 + BC2 – 2AB.BC = 0
(AB – BC)2 = 0

 AB = BC
 BAC =ACB

ABC 

BAC + ACB + ABC = 180º

                  2BAC = 90º = 180º
BAC = 45º

= 45º

67. (A)

= 2 × 

r2h = 2 × a3

r  

h  

a  

× r2 × 56 = 2 × (198)3

r2 = 
2 198 198 198 7

22 56

= 
2 9 198 198

8

r2 = 88,209

r = 88,209

r = 297 

68. (C)

2 2

2 2

1 1

1 1

x x x x

x x x x

= 194

 
2 2 2 2

2 2 2

( 1) ( 1)

( 1)

x x x x

x x

    

 

= 194



2 2 2 2

2 2

2 2

1 2 1

1 2 1
1

x x x x x

x x x
x x

= 194
 4x2 – 2 = 194
 4x2 = 196
 x2 = 49
 x = 7.

69. (A)

= – – – –s a s b s c s d

s =
2

a b c d

=
24 10 15 15

2
= 32

 = 8 17 17 22

    = 17 2 2 11

    = 68 11  2

70. (C) (V) = 924 cm3

V= 21
3

r h = 924

r2 = 
924

h × 3 ...(I)

A =  r2 ...(II)

I II 

A =  r2  = 
924

h × 3

A = 
924
18 × 3 (... h = 18cm)

A = 154 cm2

(C)

71. (A)
(7 + 19) × 12 = 26 × 12  312

(13 + 14) × 19 = 27 × 19  513

(16 + 8) × 11 = 24 × 11  264

72. (C)
P Q R S

+×

31 R 11 S 14 R 16 Q 19 P
76
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= 31 + 11 – 14 + 16  19 × 76

= 31 + 11 – 14 + 
16 76
19

= 31 + 11 – 14 + 64
= 106 – 14
= 92

73. (B)

(B) 

74. (C)

(C) 

75. (D)

76. (D)

G +4 K +4 O +4 S +4 W

K –5 F –5 A –5 V –5 Q

28+12 40+12 52+12 64 +12 76

SV64 

77. (A)

L +2 N +2 P +2 R +2 T +2 V 
J –1 I –1 H –1 G –1 F –1 E
B –3 Y –3 V –3 S –3 P –3 M 

78. (D)

3512 768
2

 

3768 1152
2

 

31152 1728
2

 

31728 2592
2

 

79. (D)

(D) 

(D) 

80. (B)

G

7

R

18

I

9

P

16

S

19

F

6

R

18

A

1

M

13

E

5

J

10

E

5

A

1

N

14

S

19

81. (B)

82. (C)

83. (C) 5 
6, 2, 4 3 1 5

84. (D) + –  ×

(D) P × Q – R + S – A
P × Q  P, Q 
Q – R  Q, R 

R + S  R, S 
S – A  S, A 

QR

S PA

S, P 
(D) 

85. (D) ` 25 
` 15 

= (25 – 15) = ` 10

= 
10
2  ` 5

16 = (16 × 5)
 ` 80

` 25

17 = 80
+ 25 = ` 105

17 ` 105

86. (D)

18

87. (B)
5 

88. (D)

89. (C)

90. (D)

67 

91. (D) 950 
1050 
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92. (A) 120/80

93. (C)
1961

94. (A)
10

95. (B) 9 

96. (C)

97. (C) 61
326

21 18 

98. (B)

99. (C)

100. (A)
16 

101. (C) 44 1978

102. (A)

1992
12 1992

103. (D)

104. (C) 1976 42

105. (C) 342239 
33 

68548437

106. (A)

26 1947 

107. (A) 1 
2016 

108. (D) 2  1869 

30 1948 

109. (B) 19 
6 

(1)

(2)

(3)

(4)

(5)

(6)

110. (D) 563 483 

111. (B) SI 

112. (B)
1 

113. (B)

114. (C)

115 (B) 4°C 
0°C 999·83

3

116. (D)

117. (D)

118. (B)

119. (C)

120. (C)

> > >
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121. (C) (13 1879–2
1949) 

1947 1949 

122. (A)

1984 

12 

400 1984 

7 11

23 1984  1
29,028 

8,848 

123. (B) 16 1975 

1969 

124. (A)

1972 

125. (D) 1979 
1980 

126. (A)

1952

127. (A)

9 1956

128. (C)
1909 

1947 

129. (B)

1674 

130 (C)

-
LOC

18,875 

131. (D)

14 1999 668,000
(106,200 m3/d) 

132. (C) 

1970

1999







133. (D)

134. (B)

135. (A) 

136 (D) 







137 (B) 

 8 

 23º30' 
82º30' -

138 (A)  17.46 
24.5 

80.15 84.20 



80º15

139 (A)  120-125 


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 94 



60 80 

140 (C) 

(2020-21)

 2020-21
158.409 

 154.150
132.531

119.296 

141 (A) 



8





142 (D) 



143 (C) 

1818 

1818 1830 

 1830 

 1853 

1853

144 (B) 

1992 73

 2 1959



145 (D) 



146 (A) 

2019

147 (D) 

2013 



 1954 

148 (D) 



149 (A) 

-

150 (D) 







1672 


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1. IBM 

(A) (B)

(C) (D)

1 (C) IBM Full Form “International
Business Machines” 

2.

(A) (B)

(C) (D)

2 (B)
1945 

(Vaccuum Tube
Technology) 

1942-1955

1956-1965

1966-1975

1976-

-

3.

(A) 1940 (B) 1946

(C) 1950 (D) 1960

3 (B) 1946 

(Programmable) 

4. MPG 

(A) (B)

(C) (D)

4 (C) (MPG) 

MPG 

5.

(A) (B)

(C) (D)

5 (B) 



6. - -

(A) CD-ROM (B) DVD-ROM

(C) (D)

6 (D) 

 NV-RAM Non
Volatile Random Access
Memory 

NV-RAM 
monitor, printers, cars,

smart cards devices 

 ROM 
(Flash) Hard Disk 

Floppy Disk 
Magnetic Tape 

Optical Discs 
Paper Tape 

Punched Card 

7.

(A) CD-ROM

(B) CD-RW

(C) DVD

(D)

7 (D)

8.

(A)

(B)

(C)

(D)

8 (C)

(WWW-World Wide Web) 

9. -

(A)

(B)

(C)

(D)

2016

28-2-2016
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9 (B)

10. -

(A)

(B)

(C)

(D)

10 (D)

-

-

11. (output))

(A) (beam) 

(B) (character)

(C) (laser)

(D) (line)

11 (C)

(Negative) 
(Drum) 

12. -

(A) -

(B)

(C)

(D)

12 (B) -
-

1970 
1980 

13.

(A)

(B)

(C) -

(D)

13 (C) -







 -

 -



14. -

(A)

(B)

(C)

(D)

14 (D) (1985) (1991) 
(2008) 

(Open Solaris)
Sun

Microsystems Solaris 
Sun Microsystems

15.

(A)

(B)

(C)

(D)

15 (A) (System Software)

system 

Operating system, BIOS,
Drivers (Bluetooth, WLAN,
Audio), 

user
computer 

16. -

-

(A) (B)

(C) (D)

16 (D)

17. A2 : A4 

(A) A3

(B) A2 A4 

(C) A2 A4

(D)

17 (B) A2 : A4 A2 A4 

Columns (A,
B, C) 
Rows (1, 2, 3) 

Column 
Row 

Column A
Row 2 

C5 

18.

(A) Ctrl + 1 (B) Ctrl + E

(C) Ctrl + L (D) Ctrl + M
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18 (D) Ctrl + M 

CTRL +
> MS-WORD 

CTRL + < 
19.

(A) (B)

(C) (D)

19 (D) (Authentication) 

20.

(A)

(B)

(C)

(D)

20 (A) Static IP Address IP Address 

Static
IP Address DHCP
Server  Assigned 

Static IP 

Dynamic IP Address 
Dynamic IP

Address Change 

21.

(A)

(B)

(C)

(D)

21 (D) (D) 

22.

(A) (B)

(C) (D)

22 (A)

23.

(A) - (B)

(C) (D)

23 (A) -
24.

(A) (B)

(C) (D)

24 (D)

25.

(A)

(B)

(C)

(D)

25 (B)

(B) 
26. -

(A) (B)

(C) (D)

26 (C)
27.

(A) (B)

(C) (D)

27 (B)
28.

(A)

(B)

(C)

(D)

28 (D)

29. -

(A)

(B)

(C)

(D)

29 (D) (D) 

30.

(A) = 

(B) = 

(C) = 

(D) = 

30 (B) + = 

General English
31. Choose the alternative which best

expresses the following sentence in

passive voice :

You can play with these cubs quite safely.

(A) These cubs can be played with quite

safely

(B) The cubs can be played quite safely

(C) These cubs be played quite safely

(D) These cubs can be played quite safely

with

31 (A) Active voice 
Passive voice structure

[sub. + can + be + V3 + other
words]
These cubs can be played with quite
safely.

(A) 
32. Choose the word which is most nearly

opposite in meaning to the word

‘humility’ :

(A) Sincerity (B) Modest

(C) Arrogance (D) Humble

32 (C) humility 
antonym arrogance 

(C) 
33. Choose the most appropriate one-word

substitute for ‘a person who has rejected

his religious or political beliefs’ :

(A) Apostle (B) Apostate

(C) Atheist (D) Apathetic
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33 (B) A person who has
rejected his religious or political
beliefs one word

apostate
Apostle Atheis 
Apathetic 

(B) 
34. Find the correctly spelt word of the

following :

(A) Connoisseur (B) Connosseur

(C) Conoisseur (D) Connoiseur

34 (A) connoisseur 
spelling 

35. Pick out the word which is  synony-

mous with the word ‘dexterity’.

(A) Skill (B) Adroitness

(C) Deftness (D) Admiralty

35 (D) Dexterity 
Synonym Admiralty

(D) 

36. Choose the correct sentence from the

following :

(A) The box of oranges were heavy

(B) The heard of cows were under the

trees

(C) The tongs is hanging in the kitchen

(D) Jim or the children are to go first

36 (D) Jim or the children are
to go first. 
subjects, either–or, neither–nor, or

nor verb 
(nearest) subject 

(D)

37. Choose the incorrect sentence from the

following :

(A) Everyone was holding a hockey stick

in the air

(B) When you speak, you should be

precise

(C) To whom shall I give this book ?

(D) Who did you visit yesterday ?

37 (D) Who did you visit yesterday?
38. Fill up the blank in the following sentence

with most appropriate proposition :

Some people revel ............. gossip.

(A) in (B) at

(C) for (D) about

38 (A) in 
Revel 

39. Fill up the blank in the following sentence

with most appropriate conjunction :

ABC is an equilateral triangle ............. its

sides are equal.

(A) and (B) hence

(C) but (D) while

39 (B) hence 

40. Never live beyond your means. Identify

the correct indirect expression of the above

imperative :

(A) He told us not to live beyond our

means

(B) He told us that we should never live

beyond our means

(C) He told us that we are not to live be-

yond our means

(D) He told us that we must not live be-

yond our means

40 (B) Direct speech indirect
speech 

He told us that we should never live
beyond our means.

41. 300 km

60 km

4

100 km

10

(A) 80 km/hr 60 km/hr

(B) 60 km/hr 80 km/hr

(C) 70 km/hr 90 km/hr

(D) 90 km/hr 70 km/hr

41. (B) =  

=  

T1 + T2 = 4 

=

60 240
x y


= 4 ...(1)

100 200
x y


=

25
6

600 1200
x y


= 25 ...(2)

( (1) 10 

(2) )

600 2400
x y


= 40

600 1200
– –x y = 25

 = 

1200
15 = 80 

(1) 

60 240
80x

 = 4

60
x = 4 – 3 = 1

= 60 

42.

6 km/hr 10 km/hr

30

(A) 6 km (B) 10 km

(C) 7.5 km (D) 20 km

42. (C)

=

+ 30

d km.

6
d

=

1
10 2
d


( 30 = 

1
2  )

5 = 3  + 15

 =

15
2  = 7·5 

43. 650 km 5 

940 km 10

(A) 1590 km/hr (B) 168 km/hr

(C) 106 km/hr (D) 126 km/hr

43. (C) = 

dqy nwjh

dqy le;

= 

650 940
5 10



= 

1590
15  = 106 

44. 8 

36 km/hr 

(A) 70 m (B) 80 m

(C) 85 m (D) 90 m.

44. (B) = 36 

=

536
18

 = 10 

 = × 

= 10 × 8 = 80 

45.

36% 113

85 

(A) 500 (B) 550

(C) 640 (D) 900

45. (B)

36% —— 113 + 85   
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 36% —— 198

 100% —— 

198 100
36



= 550

46. 42% 52%

17%

46 

(A) 100 (B) 200

(C) 300 (D) 350

46. (B)

= (42 + 52 – 17)% = 77%

 = (100 – 77)% = 23%

23% —— 46

 100% —— 

46 100
23



= 200

47.

20% 

25% 

` 432 

(A) ` 675 (B) ` 625

(C) ` 648 (D) ` 540

47. (A) =
  

=

432 125
80


= 27 × 25 = ` 675

48.

25% 

(A) 20% (B) 25%

(C)
2 %
5

16 (D)
1 %
3

33

48. (D) = ` 

=  25%

= 4
x

 =
3

 
4 4
x xx  `

% =

/ 4 100
3 / 4
x
x



=

100
3

133 %
3

49. 3% ` 8,000 

4%

` 6,000 

5 

(A) 3 (B) 4 

(C) 5 (D) 6 

49. (C) n

8000 3 6000 4 5
100 100

n   


  = 

6000 4 5
8000 3

 


  = 5 

50. ` 18,000 10% 3 

(A) ` 5,958 (B) ` 5,628

(C) ` 5,400 (D) ` 5,940

50. (A) A = 
RP 1

100

n
  
 

A =

310
18000 1

100

= 
11 11 1118000
10 10 10

  

= 18 × 1331

= ` 23958

 = ` (23958 – 18000)

= ` 5958

51.

3003 21 

231 

(A) 271 (B) 273

(C) 371 (D) 373

51. (B)

= × 

 × 231 = 21 × 3003

=

21 3003
231


= 21 × 13 = 273

52. ABC

A

B C

(A) = 3 / 2a

(B) = 2 3a

(C) = 3 / 6a
(D)

52. (C)
A

M C

O

B

ABC 

 OM 

OBM 

 BM = 2
a

 

OBM = 

60º
2  = 30º

BMO 

Tan 30º = 

OM
BM

 OM = BM × Tan30º

                       =

1
2 3
a


= 

3 3
62 3 3

a a
    

53. 4 cm 16 cm 

2 mm 

(A) 20,000 (B) 22,000

(C) 24,000 (D) 28,000

53. (C) =  2

= ( × 4 × 4 × 16 ) 

1 = 2 

= 

1 12
10 5

 les h

 1 = 

4
3  3

= 

4 1 1 1
3 5 5 5
   

 = 
4 4 16

4 1 1 1
3 5 5 5

  

   

= 3 × 4 × 16 × 125 = 24000

54.

512 cu m 

(A) 16 cm (B) 12 m

(C) 20 m (D) 32 m

54. (A) = 

 =
2
l

 =
4
l

  ×  ×  = 512

2 4
l ll   = 512



  |   53

3
 = 512 × 8

 = 512 8  = 8 × 2 = 16 

55. 9 3 cm 

(A) 243 cm
2

(B) 486 cm
2

(C) 648 cm
2

(D) 324 cm
2

55. (B) , 3a 9 3  
 = 9 

 = 6
2

= 6 × 9 × 9 = 486 

56. 1 : 4 

4 : 5 

(A) 1 : 5 (B) 5 : 4

(C) 5 : 16 (D) 25 : 64

56. (D)
1

2

V 1
V 4

 ...(1)

1

2

4
5

d
d



 1

2

2 4
2 5

r
r
 1

2

4
5

r
r
 ...(2)



2
1 1

2
2 2

1
13

1 4
3

r h

r h






1 


2

1 2
2

2 1

1
4

h r
h r

 

=

1 5 5 25
4 4 4 64


 



1 : 2 = 25 : 64

57. 3 cm -

0·2 cm 

(A) 36 m (B) 9 m

(C) 18 m (D) 12 m

57. (A) = 

             
3 24 R

3
r h  

4
3  × 3 × 3 × 3 = 0·1 × 0·1 × 

  = 

4 3 3
0·1 0·1
 


  = 36 × 100 = 3600 

    = 36 

58. 1 100 

2, 3, 5 7 

(A) 22 (B) 24

(C) 23 (D) 27

58. (A)  1 100 

2, 3, 5 7 

1 100 

1 

1 100 

= 25

= 25 + 1 – 4

( 2, 3, 5 7 )

= 26 – 4

= 22

59. = 
1

2 1
2

2
16x
x

 

(A) 0

(B) 1

(C) 2
(D)

59. (A)  = 
1 2 1

2 –1 2 1





= 
2 2

2 1 2 1
( 2) – 1


 

2
2

16x
x

  = 

21 – 4x
x

  
 

=
2[ 2 1 – ( 2 1)] – 4 

= 
2( 2 1 – 2 1) – 4 

= 4 – 4 = 0

60.

1 1 1 1a b a b
x x y y

y y x x

(A)

a b
x
y


 
 
 

(B)

a by
x

(C)

a

b
x
y (D) ( )

a+b

60. (A)
1 1a b

x x
y y

         
     

÷

1 1a b
y y

x x

         
     


1 1a ba b

a b
x xy y

x xy y
            

–1 1a b
y y

x x


           


1 1a a b ba b

a b
x y y

x xy

 


        
   

 1 1
a b

x
y


 

  
 

     [ 
0
 = 1]


a b

x
y


 
 
 

61.

1 2

2 1
4 20 12 15

16 5 9

n m m n m n

m m n m

   

 
  

 

(A) 500 (B) 1

(C) 200 (D)

1
500

61. (D)

1 2

2 1
4 20 12 15

16 5 9

n m m n m n

m m n m

   

 
  

 

= 

2 2 2 1 2 2

2 2

4 2 2 2

2 2 5 2

3 3 5
2 5 3

n m m m n

m n m n m n

m m n m

  

    

 

  

  

 

= 2
2 +2 –2+2 –2 –4

 × 3
– + + –

2–2 +2
 × 5

–1+ + –2–2 –

= 2
–2

 × 3
0
 × 5

–3
 = 

1 1
4 125 500




62.

11
232(137641) (2197) (0·01) 

(A) 0·04823

(B) 0·004823

(C) 0·4823

(D)

62. (C)      
1 1

22 3137641 2197 0.01 

= 371 × 13 × 0.0001

= 0.4823

63. A, B ` 6,000 C, D

E ` 8,000 

(A) ` 7,200

(B) ` 7,000

(C) ` 7,500

(D)

63. (A) (A + B + C + D + E) 

= 

2 6000 8000 3
5

  

= 

36000
5  = 7200

64.
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(A) 1 : 16 (B) 4 : 1

(C) 2 : 1 (D) 2 : 8

64. (B)   T = 
D
S

...(1)

2T = 

1

D
2S

D2
S

 =

1

D
2S

(1) 

S = 4S1 S : S1 = 4 : 1

65. X, Y 2000 m 200 m 

Y, Z 2,500 m 100 m

X, Z 1000 m 

(A) 126 m (B) 136 m

(C) 155 m (D) 166 m

65. (B)
x
y

=
2000 10
1800 9



y
z =

2500 25
2400 24



x
z

=
10 25
9 24

x y
y z
  

x
z =

250 4
216 4



x
z

=
1000
864

 

= 1000 – 864

= 136

66. ,  (  + ) :

(  – ) :  = 7 : 1 : 60 

1 1:
m n

(A) 4 : 3 (B) 8 : 7

(C) 3 : 4 (D) 7 : 8

66. (C) ( ) : ( ) :  = 7 : 1 : 60


m n
m n

 =

7
1


m
n =

7 1 8 4
7 1 6 3






n
m

=

13
14
m

n
 = 3 : 4

67. = 
4 pq
p q

2 2
– 2 – 2

m p m q
m p m q
 



(A) 2

(B) 4

(C)
2mpq
p q

(D)

67. (A)  = 
4 2 2pq p q
p q p q




 

2
2
m q
p p q





2 2 3
2 2

m p q p q p q
m p q p q q p
   

 
   

2
2
m p
q p q





2 2 3
2 2

m q p p q p q
m q p p q p q
   

 
   


2 2
2 2

m p m q
m p m q
 


 

 =

 

3 3p q p q
q p q p
 


 

= 
3 3p q p q
q p

  


= 
2 2 2( )

( )
q p q p
q p q p
 


 

 = 2

68.

(A)
3

2( )
xy

y x
(B)

3xy
y x

(C)
3( )

xy
y x

(D)
2

3( )
xy

y x
68. (D) 

= 

= 

= 

xy
y x  

 = 

1
3

= 

2 2
3 3( )

xy xy
y x y x

 
   

69. 2 5 

4 3 

6 3 

(A) 18 (B) 20 

(C) 24 (D) 36 

69. (A)

(2W + 5M) 1 = 

1
4

(3W + 6M) 1 = 

1
3

2W + 5M =

1
4 ...(1)

3W + 6M =

1
3 ...(2)

(1) × 6 – (2) × 5

12 W – 15 W =

6 5
4 3


– 3W = – 

1
6

 W =

1
18

1

= 18 

70. 1 1 

1 

1 

1
2

(A)

5
3 (B)

4
3

(C)

3
5 (D)

2
5

70. (C) = N = D 

N 1
D 1



 = 1  N – D = – 2 ...(1)

N 1
D 1 2




  2N – D = 1 ...(2)

(2) – (1) 

2N – N = 2 + 1  N = 3

N (1) 

3 – D = – 2

 D = 3 + 2

 D = 5

= 

3
5

71.

30 9 72

18 15 18 ? 6036
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(A) 42

(B) 44

(C) 36

(D)

71. (C)

36 – 30 = 6

30 – 18 = 12

36 – 18 = 18

18 – 15 = 3

15 – 9 = 6

18 – 9 = 9

72 – 60 = 12

60 – 36 = 24

72 – 36 = 36

72.

? A 
C

FJ
O

(A) U

(B) V

(C) W

(D)

72. (A) A + 2 = C

C + 3 = F

F + 4 = J

J + 5 = O

O + 6 = U

73.

(A) 18

(B) 17

(C) 16

(D)

73. (A)

A

B C

D EF

G

ADF, AFE, DFG, FEG,

DBG, ECG, BGC, ADE, ABC,

DEG, ADG, AEG, AGB, AGC,

DAC, EAB, DEC, EDB

= 18

74.

D -

D

B
A

E

C
A

F

B
D

(A) C (B) B

(C) E (D) F

74. (A) (I) (II) 

D
C

B
E

A
A

D C 

D C 

75.

(A) (B)

(C) (D)

75. (D)

76.

(A) (B)

(C) (D)

76. (A)

90º 

(A) 

77. -

1
3

4 5

6 7

8

9 

10 

11

2

13

(A) 9 (B) 10

(C) 11 (D) 13

77. (B) 10

78. GOAT LFTY

LION 

(A) QNRT

(B) QNRS

(C) QNTS

(D)

78. (D) G  O  A  T          L   F   T  Y

+ 5
 7

 9
+ 5  

L    I  O  N         Q  Z   H   S

+ 5
– 7

– 9
+ 5  

79. M, B P J B, P 

M J 

(A) (B)

(C) (D)

79. (A) B J

M

P

M, J 

80.

2, 3, 5, 7, 11. 13, 17, 19, 23, 29, 31, ?

(A) 37

(B) 41

(C) 31

(D)

80. (A)

               

81.

3, 12, 33, 12, .....

(A) 125 (B) 135

(C) 145 (D) 95

81. (D)

(2)2-1 (6)2-3

3 3312

(10)2-5

9512

+4 +4

82.

BCD, CDE, EFG, GHI, KLM, ....

(A) OPQ (B) MNO

(C) PQR

(D)
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82. (A)
+ 1B          C         E         G         K         O+ 2 + 2 + 4 + 4

+ 1C          D         F         H         L         P+ 2 + 2 + 4 + 4

+ 1D          E         G         I          M         Q+ 2 + 2 + 4 + 4

83.

7B, 9D, 11F, 13H, 15J, ...

(A) 15L

(B) 17L

(C) 17K

(D) 15K

83. (B)
+ 27          9         11         13         15         17+ 2 + 2 + 2 + 2

+2B          D         F         H         J         L+ 2 +2 + 2 + 2

84.

45678912, 5678912, 567891, ...

(A) 56789

(B) 67891

(C) 567891

(D)

84. (B)

85.

2 8 9 31

1 3 2 11

3 7 5 28

5 2 3 ?

(A) 24

(B) 23

(C) 22

(D)

85. (C) 2 × 3 + 8 × 2 + 9 × 1

= 6 + 16 + 9 = 31

1 × 3 + 3 × 2 + 2 × 1

= 3 + 6 + 2 = 11

3 × 3 + 7 × 2 + 5 × 1

= 9 + 14 + 5 = 28

5 × 3 + 2 × 2 + 3 × 1

= 15 + 4 + 3 = 22

86.

(A) (B)

(C) (D)

86 (D) -
1935

XVIII 
352 360 

(5 ) 

87.

1.

2.

3.

4.

5.

6.

(A) 1, 2 (B) 3, 4

(C) 5, 6 (D) 4, 6

87 (C) 131 







88.

-

(A) 19 (B) 20

(C) 21 (D) 22

88. (C) -21 

89. 236 

-

1.

2.

3.

4.

5.

6.

7.

8.

9.

       10.

(A) 1, 3, 6 (B) 2, 5, 7

(C) 5, 6, 8 (D) 4, 9, 10

89. (D) -236 

90.

-

(A)

(B)

(C)

(D) (MIC)

90 (B)

(French Second Army) 

91.

(A)

(B)

(C)

(D)

91 (D) -

16

92. `100
122 

(A) IMPRINT-3 (B) IMPRINT-4
(C) IMPRINT-2 (D) IMPRINT-1
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92 (C)

5 2015

-2 (IMPRINT-2) 112
122 

93.

(A)

(B)

(C)

(D)

93. (C)

 

94.
-

(A) 123
(B) 143
(C) 153
(D) 163

94 (A)

338B

123
2017 102

2018) 

95.

(A) (PMJDY)

(B) (SAGY)

(C)

(D)

95 (A) -

96. 2020 

(A) (B)

(C) (D)

96. (D)

2020 

97. 2021 2°C 

(Gt) 

(A) 1900 -

(B) 2900 -

(C) 3100 -

(D)

97 (B) 2015

2 
1.5 

2 

98. (A) : -

(R) : 

(A) (A) (R), 

(R), (A) 

(B) (A) (R), 

(R), (A) 

(C) (A) (R) 

(D) (A) (R)

98 (B) (Acid rain)

SO2 NO2

99. -

(A) (B)

(C) (D)

99. (B)

90, 91, 92, 94, 96 

100.

(A) (B)

(C) (D)

100 (A)

101. -

(A)

(B)

(C)

(D)

101 (D)
KOH 
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CuSO4

102. -

-

(A) (B)

(C) (D)

102. (B)

103.

(A) (B)

(C) (D)

103 (C)

370 

-

- 12

104.

(A) (B)

(C) (D)

104 (A) 1394 1479 

- -

(1390-1394) 
1394 

105.

(A) (B)

(C) (D)

105 (A)
(Sadat Khan) 1720 

1722 1739

106. 1905 

(A)

(B)

(C)

(D)

106 (D) 1905



 1905 

-

107. 1921 

(A)

(B)

(C)

(D)

107 (B)

108.

1926 

-

(A)

(B)

(C)

(D)

108 (C)

1926 

109.

(A) -

(B) -

(C) -

(D)

109. (C)

[ ]

110.

(A) (B)

(C) (D)

110. (B)

111. -

(A) (B)

(C) (D)

111 (A)

112. -

(A) (B)

(C) (D)
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112. (B)

113.

(A) (B)

(C) (D)

113 (B) (Cherrapunji)

(sohra) 

114.

(A) (B)

(C) (D)

114. (B)

250 

115. -

(A) (B)

(C) (D)

115. (D)

116.

(A) (B)

(C) (D)

116. (C)

117.

(A)

(B)

(C)

(D)

117 (A)

118.

1.

1
3

2.

1
3

3.

1
6

4.

1
12

5.

1
12

6.

1
6

7.

8.

(A) 1, 2, 4, 6 (B) 2, 3, 5, 7

(C) 2, 4, 5, 8 (D) 1, 3, 6, 7

118 (C)  -

 (1/3)

 (1/12) 

 (1/12) 



119.

(A)

(B)

(C)

(D)

119 (A)

15

6

120.

(A)

(B)

(C)

(D)

120 (B) 192

121.

(A) (B)

(C) (D)
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121. (D)

122.

(A) (B)
(C) (D)

122 (B) 2017

123. (TRAI) 

(A) ` 50,000 ` 5

(B) ` 50,000 ` 5

(C) ` 50,000 ` 5

(D)

123 (D)

` 50,000

124.

(A)

(B)

(C) (A) (B) 

(D)

124. (C)

125.

(A) (B)
(C) (D)

125 (B) -

126.

(A) 21

(B) 20

(C) 18

(D)

126 (B) 20
12 2016 

127.

(A)

(B)

(C)

(D)

127. (B) 145

128.

(A)

(B)

(C)

(D)

128. (B)

1947 Zika forest

1952

129.

(A)

(B)

100 

(C)

(LIGWO) 

(D)

129 (D) 100 

2 2017 

130. 114

(A) (B)
(C) (D)

130 (B)
114

131. -

(A) 12

(B) 13

(C) 14

(D)

131 (A) 
12 






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132.

2016 

(A)

(B)

(C)

(D)

132 (D) 18 31 2016 

104

133.

(A) 6

(B)

(C)

(D)

133. (A) 6 

134.

(A) 2022

(B) 2020 

(C) 2030

(D)

134 (C)
2030 

135. -

(A)

(B)

(C)

(D)

135. (B) [ 20] 

136. -

(A)

(B)

(C)

(D)

136 (D)
16 

1927 

1942 
1955 

137.

(A)
(B)
(C)
(D)

137 (D)

1992 

138. -

(A) (B)

(C) (D) -

138 (B)

139. -

(A) (B)

(C) - (D)

139 (D)

712.48 

140.

(A) (B)

(C) (D)

140. (A) ( ) 

141.

(A) (B)

(C) (D)

141 (C)

-

142.

(A) (B)

(C) (D)

142 (C) 2019

7.40

55611 
64 

143.

(A) 97 (B) 96
(C) 100 (D) 98

143 (B) 

96

 2014 
118

 -
100

95.65 90.61

 193 
0.9551

15 
-

 - -
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144.

(A) (B)

(C) (D)

144. (A)

1090 1120 

145.

-

(A)

(B)

(C)

(D)

145 (B)

1787 1818

146.

1857

(A) (B)

(C) (D)

146 (D) 1819

147. 1917

(A)

(B)

(C)

(D)

147. (A) 26 1917 

148.

(A) (B)

(C) (D) -

148 (C)

8

149. -

(A)

(B)

(C)

(D)

149. (D)

150.

(A)

(B)

(C)

(D)

150. (B)




